Plugs - without valve Series 21KA

Connection HEX [HEX1| L L1 L2 D B G Version Part Number
A mm | mm [ mm | mm | mm | mm | mm mm
4 mm 32 | 17 9 AISI 303 21SFTFO4RXX
5mm 32 17 9 AISI 303 21SFTFO5RXX
6 mm 32 | 17 9 AISI 303 21SFTFO6RXX
; L1 6 mm 32 | 17 9 AISI 316 L | 21SFTFO6EXX
DD]E]IH 8 mm 32 | 17 9 AISI 303 21SFTFO8RXX
8 mm 32 | 17 9 AISI 316 L | 21SFTFO8EXX
9 mm 33 | 17 10 AISI 303 21SFTFO9RXX
9 mm 33 | 17 10 AISI 316 L | 21SFTFO9EXX
Hose Barb 10 mm 33 | 17 12 AISI 303 21SFTF10RXX
10 mm 33 | 17 12 AISI 316 L | 21SFTF10EXX
6 mm Parker 36 | 20 12 AISI 303 21SFTPO6RXX
4 x 6 mm 12 | 12 | 32 7 6 M10x 1 AISI 303 21SFKO06RXX
. 4 x 6 mm 12 | 12 | 32 7 6 M10x 1 AISI316 L | 21SFKOO0BEXX
6 x 8 mm 14 | 14 | 32 7 6 M12x 1 AISI 303 21SFKO08RXX
6 x 8 mm 14 | 14 | 32 7 6 M12x1 AISI 316 L | 21SFKOO08EXX
4 x 6 mm 14 | 12 | 43 7 18 8 M10x 1 AISI 303 21SFKS06RXX
4 X6 mm 14 12 43 7 18 3 M10x 1 AISI 316 L | 21SFKS06EXX
%ﬂ@l 6 x 8 mm 14 | 17 | 44 7 18 4 M12x1 AISI| 303 21SFKS08RXX
GRE
L2
Panel Mount

with Plastic Hose Connection

A Please consider our security advices on the pages 12/13 A

Stainless Steel

Low Pressure



